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https://docs.google.com/document/d/1c-HLKD55_aXsNACApYaCOBm-C-ClJGZhyvJ5x3qzcb8/edit

JZz

SZ

Solves (3)

J>L

IL>J

JL>1




LO

B L

Solves(2)

0z 0QB

™

Reveal |

Reveal J

Reveal L

Reveal S

JO oQB

There is actually a 3p that is 100% T, but does not cover every queue.



https://fumen.zui.jp/?v115@9gh0Heg0Ieg0wwEeg0BeywDei0JeAgH

e

Reveal | Reveal L Reveal S Reveal Z
S>Z, L last
Z last
10 ogb
Reveal J Reveal L Reveal S Reveal Z




L first

Z first

S first

J first

S first

Z first

JL ogb

Reveal |

Reveal O

L

Reveal S

Reveal Z

S>Z

S>Z




Z>S

Z>S

1J 0QB

e

Reveal L

Reveal O

Reveal S

Reveal Z

Z>S

S>Z, Z last

S>L>Z

Reveal L, access T

r

L




Reveal O

o=

B

Reveal S

Reveal Z

S>Z
Z>S

IL OQB

=

Reveal J, access Z

Reveal S

Reveal Z




Z>S

Reveal O
Access Z

Reveal J

Reveal S

™

Reveal Z

Access J

Reveal J

Reveal S/Z




Reveal J, access T

b e

Reveal O

Reveal S

Reveal Z

S>Z
Z>S







